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2 Here are two siple descriptions of the graph:

The number of overseas students studying at the university has risen. Or &
The graph shows an increase in, the number of averseas students at the university.

Add ‘considerably”to the first sentence and consxderable to the second sentence.
What effect does this word have?- ~ 8 DA
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3 Here are some words and phrases to help you debcnoe nends. \

| nouns _ '~ adjectives and adverbs | phrase - B

a rise ' sharp(ly) / dramatic(ally) remain the same “
an increase ; considerable(ly) reach & plateau \

| arall ; : steady(ily) remain stable ‘\ .

;: a drop i siight(ly) / gentle(ly) | remain/stay constant \

| adecline | sraduallly) : reach a peak :l

, a peak/dip : relative(ly) ' } hit/fall to the lowest point E
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<32 : escribe the pattern in
Using some of the words and phrases on the previpus page, describe the p

each graph below.
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4 Describe each pattern using a verb, e.g. a Ir falls shdrply.
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what the twe aes : L I s s By e
vreprasant but you do 5 Is the graph aboutqeople or vehicles?

nat need Yo describe
3 I’ b2 2 Q7
s G 6 What do the numbers along the

1" al avy 2 ?

mswer. If you say: The horizental axis represent?
wamber of cars has
wavraeased dvamaticall

(o)
(=)

—
(52]

—
o

Car cv;r.:ters {millionis]

7 What do the numbers on the Qertical axis

AN ?
O Cav onnarship has Ceatlys . o
maveased fvom 2 to 8 Write a short, general statement about §»
20, yom will lose warks car ownership in Britain, ; /
because the inforwation . - 3
Al R o 9 Now include the time period. Use: 0 = pe .
incourate, a since 1960 b (over a 40-year period) Years 0

between 1960 and 2000
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